Station 1 – The Parent Graphs
Graph each parent function on your recording sheet.  Be detailed.  Pay attention to axis labels.

This station will help you through the rest of your stations.
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Station 2 – How well do you know your parents?
Answer Choices:
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Select ALL that apply. Use Station 1 to help!!

	1.  My zeroes are located at 
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	2.  I have an amplitude.  Honest I do!

	3.  My period is 2(.
	4.  My reciprocal function is cosecant.

	5.  I am an odd function. (origin symmetry) 
	6.  I have 
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	14.  I do not have an amplitude.    
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	16.  I do not have any zeroes. 
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Matching:

	
	1. The amplitude is 3.
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  as an asymptote and passes through the origin.
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Station 4 – Let’s get our graph on!
Graph each of the following over ONE PERIOD.
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Station 4 – Let’s get our graph on!
Graph each of the following over ONE PERIOD.
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Station 5 – Hey… what’s my equation?
Write the equation for the BOLD portion of the graph.
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Stations Practice: Test 2.1 Answer Sheet
Name__________________Period:  ______
Station 1:
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